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Acid-Base Titration Reactions
Warm Up

1. Determine the color of the acid-base indicator in each type of solution.

	Indicator
	Acidic
	Neutral
	Alkaline

	Red Litmus Paper
	
	
	

	Blue Litmus Paper
	
	
	

	Phenolphthalein
	
	
	


2. A HCl solution has a pH =1.5.  Determine the [H3O+] of this solution. (Hint: [H3O+] = 10-pH)
3. Write the equation for the neutralization reaction between sulfuric acid (H2SO4) and potassium hydroxide (KOH).

Titration Reactions 
What is a titration reaction?

How will you know when the reaction reaches its end point?

In the space below, draw a picture of the apparatus you will use for your titration lab.  Label the Erlenmeyer flask and the burettes containing acid and base.

To calculate the unknown concentration during a titration, you will need to use the following equation:


Example:

A titration reaction reveals that 25.4 mL of NaOH is required to neutralize 11.6 mL of a 3.0 M HCl solution.  Write the formula for the neutralization reaction below.

What is the molarity of the NaOH solution?
XACID = 





XBASE = 
MACID = 

VACID =

MBASE =

VBASE =

Show your work below:

Example:
A titration reaction reveals that 23.2 mL of H2SO4 is required to neutralize 35.4 mL of 6.0 M Ca(OH)2 solution.  Write the formula for the neutralization reaction below.
What is the molarity of the H2SO4 solution?
XACID = 





XBASE = 
MACID = 

VACID =

MBASE =

VBASE =

Show your work below:
XACID x MACID x VACID = XBASE x MBASE x VBASE








